Minebea

SPECIFICATIONS

Mounting attachment with slide stop
mechanism FCA-CMM1/CMP1- %- S

Flexible stop method Spec. No.EN216072-G 1/3
mounting attachment with slide stop mechanism
for CMM1-50K~2T/CMP1-250K~10T
e PIN :FCA-CMM1-50K/2T'S, FCA-CMP1-250K/2T-S
Applicable load cell :CMM1-50K~2T (FCA-CMM1-50K/2T-S)
CMP1-250K~2T (FCA-CMP1-250K/2TS)
Allowable horizontal load 1= 11.77 kN { 1 200 kef }
Allowable horizontal moving length
: 210 mm
Material : Equivalent to SUS304 (Rod end is stainless painting.)
Weigit :Approx.8 kg
Accessories :Attachment 1 piece ¢

Hexagon socket head cap screws (M5X16) 4 pieces %
Hexagon socket head cap screws (M6X1.6) 3 pieces

Bearing plate
Guide plate
Instruction manual

1 piece
2 pieces
1 piece

(3%: Attached only for FCA-CMM1-50K/2T-S)

Optional products :Dummy load cell

P/N:FCAD-CMM1-50K/2T, FCAD-CMP1-250K/2T

Welding plate

P/N:FCAW-CMM1-50K/2T (=S),FCAW-CMP1-250K/2T (-S)
Check rod to prevent the floating
P/N:FCAR-CMM1-50K/2T-S, FCAR-CMP1-250K/2T-S

e PN :FCA-CMP1-5T'S
Applicable load cell :CMP1-5T
Allowable horizontal load 1 +2942 kN {3tf}
Allowable horizontal moving length
210 mm
Material : Equivalent to SUS304 (Rod end is stainless painting.)
Weigit :Approx.12 kg
Accessories :Bearing plate 1 piece
Guide plate 1 piece

Hexagon socket head cap screws (M6 XL6) 3 pieces

Instruction manual

1 piece

Optional products :Dummy load cell P/N:FCAD-CMP1-5T
Welding plate P/N:FCAW-CMP1-5T (-S)
Check rod to prevent the floating P/N:FCAR-CMP1-5T-S

e PN :FCA-CMP1-10T-S

Applicable load cell :CMP1-10T

Allowable horizontal load : +58.84 kN {6 tf}

Allowable horizontal moving length

=10 mm

Material : Equivalent to SUS304 (Rod end is stainless painting.)

Weigit :Approx.18 kg

Accessories :Bearing plate 1 piece
Guide plate 1 piece

Hexagon socket head cap screws (M6 XL6) 3 pieces

Instruction manual

1 piece

Optional products :Dummy load cell P/N:FCAD-CMP1-10T
Welding plate P/N:FCAW-CMP1-10T (-S)
Check rod to prevent the floating P/N:FCAR-CMP1-10T-S

MinebeaMitsumi Inc. Sensing Device Business Unit

Revised on Feb, 2017




Minebea

SPECIFICATIONS

e P/N
Applicable load cell
Allowable horizontal load

Mounting attachment with slide stop
mechanism FCA-CMM1/CMP1- %- S

Allowable horizontal moving length

Material
Weigit
Accessories

Optional products

Remarks

Spec. No.EN216072-G 2/3
:FCA-CMP1-20T-S
:CMP1-20T
(7. 7kN {12t}
10 mm
: Equivalent to SUS304 (Rod end is stainless painting.)
: Approx.37 kg
:Bearing plate 1 piece
Guide plate 1 piece
Hexagon socket head cap screws (M8 XL8) 3 pieces
Instruction manual 1 piece
:Dummy load cell P/N:FCAD-CMP1-20T
Welding plate P/N:FCAW-CMP1-20T (-S)

Check rod to prevent the floating

P/N:FCAR-CMP1-20T-S

1) Secure the space around bracket part of the tank for using the jack.

2) Please prepare the fall prevention mechanism separately.

3) Installed height recommends the vicinity of the tank center of gravity position.
4) Install the joint bar facing to outside. (Refer to the below drawing.)

Joint Bar

FCA-CMM1-3%-S
AP W JOMP1-5%

Tank

3 points support

Center of gravity
of the tank

4 points support

MinebeaMitsumi Inc. Sensing Device Business Unit

Revised on Feb, 2017




Minebea

SPECIFICATIONS

Mounting attachment with slide stop
mechanism FCA-CMM1/CMP1- %- S

¢ FCA‘ CMMI' 50K/2T'S . 3 / 3
FCA-CMP1-250K/2T-S FCA-CMP1-20T-S Spec. No.EN216072-G
210 22 Hole 25 60 295
20 170 (20) 9 28
105 65 i @/i\ ©|
<#
ol = O N A0 B
Q B
, g 2 - +-—+ (s
N H’T/ = & O I\@ | él O|&
o (,, ]] 2 N I b A B I
g é:t\ | RS O
g { o 3 o
X 2 . R
000 . 00 [
Bracket processing
Long hole 47x27 165
_ , 275
625 Fall prevention fittings 330
M10 (Options) =2 X divection X divecti
| Bearing plate == — ection ion —
— O [
a : |
2g [t < =RiKe O
= [ ‘ | 2-Guide plate I~
0 T\' | rﬁ“ﬁ — =
- - | o] |9
© Joint bar
h S
275
-FCA-CMP1-5T-S _
-FCA-CMP1-10T-S
8-Long hole M F G H
= = M24
» hﬁ//}‘\ - o © O ‘ O (Tap for fall
ﬂ_“=L\ A, } @, = - g o O/ prevention fittings)
O A i i Allowable horizontal o
4 Long hole moving length of
i . T 1 m : N mmmgr}ng agf:chment @ %C) O ©
i
- [ O 11{)1 ize of bracket f 2 220 &
L / N fall prevention fittings 6-22 Hole
. 060 Fall prevention fittings
Guide plate P (Options)
B NS .
Bearing plate Joint bar Unit : mm
= T © ! o
B \
A OF—31 o
—f
A
Outline dimensions (Unit:mm)
PIN AlB|c|D|E|F|Gc|H|TI|J|K|L| M |N|O|P| q W(flj;ht
FCA-CMP1-5T'S 245 | 180 | 186 95 15 25 130 65 25 80 65 28X13 | 120 | 180 | M16 | 44x24 12
FCA-CMP1-10T*S | 270 | 200 | 200 | 115 20 30 140 70 25 80 65 100 | 32X22 | 120 | 200 | M20 | 44X28 18

$Specifications and outline dimensions and so on which have printed may subject to change for the
purpose of improvement without notice.

MinebeaMitsumi Inc. Sensing Device Business Unit
Revised on Feb, 2017




